

CLARK COUNTY COURTHOUSE 517 COURT ST., ROOM 103, NEILLSVILLE, WISCONSIN 54456 715-743-5140 www.clarkcountywi.gov

Timber Sale Tracts #15-20, #20-20, #35-20, #20-21, #24-21, #31-22, #4-23, #28-23, #32-23, #85-22, & #86-22 did not sell on the December 7, 2023 Clark County Forest timber sale bid opening.

These tracts are available for direct purchase at 10% above minimum bid value unless otherwise agreed upon by the Forestry and Parks Department as per department policy.

Contact the Clark County Forestry Department for more information. Thank you.



CLARK COUNTY FOREST

Tract	Numbe	er of Bids			
Number	Qualified	Non-Qualified	High Bidder	Appraised Value	Bid Value
15-20	0	0	No Bid	\$6,652.00	\$ -
20-20	0	0	No Bid	\$6,891.00	\$ -
35-20	0	0	No Bid	\$7,890.00	\$ -
20-21	0	0	No Bid	\$7,206.50	\$ -
24-21	0	0	No Bid	\$2,870.00	\$ -
31-22	0	0	No Bid	\$12,897.00	\$ -
4-23	0	0	No Bid	\$50,398.20	\$ -
5-23	4	0	Ule Logging	\$82,805.00	\$ 114,250.00
9-23	1	0	Ule Logging	\$9,392.10	\$ 10,060.00
16-23	3	0	Kron Forest Products	\$20,327.60	\$ 27,720.00
22-23	1	0	Flannel Fleet Logging	\$31,257.00	\$ 31,303.50
23-23	3	0	Kron Forest Products	\$20,216.00	\$ 33,100.00
24-23	2	0	Martin's Forestry	\$25,914.00	\$ 35,820.00
25-23	4	0	Byers Forestry	\$89,637.00	\$ 135,229.00
26-23	11	0	Twin Forest Products	\$102,846.00	\$ 194,802.00
27-23	5	0	Kron Forest Products	\$73,936.00	\$ 113,114.00
28-23	0	0	No Bid	\$6,054.00	\$ -
29-23	3	0	Walters Logging	\$37,050.00	\$ 47,955.00
30-23	2	0	David Hakes Logging LLC	\$31,444.00	\$ 41,610.00
31-23	8	0	Kron Forest Products	\$77,969.00	\$ 132,927.00
32-23	0	0	No Bid	\$8,173.00	\$ -
33-23	1	0	Flannel Fleet Logging	\$55,416.60	\$ 55,426.00
34-23	4	0	Wiitala & Vozka Logging	\$47,385.50	\$ 63,349.00
35-23	6	0	Ule Logging	\$52,068.00	\$ 96,650.00
36-23	4	0	Midwest Hardwoods Company	\$34,665.00	\$ 43,910.60
37-23	3	0	Nicholas Syryczuk	\$25,888.00	\$ 28,205.00
38-23	8	0	Theodore Strzok Logging	\$92,945.20	\$ 162,068.00
39-23	8	0	Kron Forest Products	\$64,512.80	\$ 99,587.50
40-23	2	0	Solberg Trucking LLC	\$23,396.00	\$ 43,691.60
41-23	2	0	Schreiner Forestry	\$10,988.00	\$ 11,450.00
43-23	13	0	Theodore Strzok Logging	\$24,628.00	\$ 38,370.00
44-23	7	0	Kron Forest Products	\$82,428.80	\$ 148,604.00
45-23	8	0	Theodore Strzok Logging	\$54,959.90	\$ 89,948.00
46-23	2	0	Dairyland Forest Products	\$33,036.00	\$ 56,310.00
47-23	9	0	Tigerton Lumber	\$16,711.00	\$ 28,550.00
48-23	2	0	Biewer Lumber	\$60,948.30	\$ 69,507.50
85-22	0	0	No Bid	\$430.40	\$ -
86-22	0	0	No Bid	\$890.00	\$ -
Totals	126	0		\$1,393,122.90	\$ 1,953,517.70

^{*}lump sum ^storm salvage

Number of Tracts Offered	38
Number of Tracts Receiving Bids	27
Number of Tracts with Qualifying Bids	27
Number of Tracts with No Bids	11

Total Number of Bids	126
Total Number of Qualifying Bids	126
Avg. Number of Qualifying Bids Per Tract	4.7

Total Appraised Value of Tracts Sold	\$ 1,282,770.80
Total Bid Value of Tracts Sold	\$ 1,953,517.70
Percent Increase Over Appraised Value	52%

Cord Equivalent Volume Sold	33,417.00
Average Cord Equivalent/Sold Tract	1238
Average \$ per Cord Equivalent Sold	\$ 58.46

Acres Sold	1,482.00
Average Acreage of Sold Tracts	55
Average \$ per Acre Sold	\$ 1,318.16

AVERAGE SUCCESSFUL BIDS – As of November 9, 2023 Clark County Forest

Supplies/Tyme	Vol	ume	Weighte	d Average	Hi	igh	Low		
Species/Type	tons	cords	per ton	per cord	per ton	per cord	per ton	per cord	
Aspen Pulp	16860	7493	\$11.05	\$2 <i>4</i> .85	\$19.00	\$42.75	\$3.00	\$6.75	
Aspen Bolts	2700	1200	\$18.20	\$40.95	\$28.00	\$63.00	\$8.00	\$18.00	
Oak Pulp	9840	3578	\$9.17	\$25.21	\$19.00	\$52.25	\$3.00	\$8.25	
Oak Bolts	3850	1400	\$18.50	\$50.88	\$28.00	\$77.00	\$7.00	\$19.25	
Mixed Hardwood Pulp	10080	4383	\$9.78	\$22.48	\$19.00	\$43.70	\$3.00	\$6.90	
Tamarack	0	0	#DIV/0!	#DIV/0!	\$0.00	\$0.00	\$0.00	\$0.00	
Basswood Pulp	0	0	#DIV/0!	#DIV/0!	\$0.00	\$0.00	\$0.00	\$0.00	
Mixed Hardwood Bolts	370	161	\$17.32	\$39.85	\$27.00	\$62.10	\$11.50	\$26.45	
Jack Pine Pulp	0	0	#DIV/0!	#DIV/0!	\$0.00	\$0.00	\$0.00	\$0.00	
Red Pine Pulp	160	71	\$14.53	\$32.70	\$16.50	\$37.13	\$6.00	\$13.50	
White Pine Pulp	4820	2295	\$16.48	\$34.60	\$24.10	\$50.61	\$3.00	\$6.30	
*Red Pine Comingled	15090	6707	\$43.27	\$97.36	\$46.90	\$105.53	\$9.00	\$20.25	
*White Pine Comingled	6700	3190	\$24.47	\$51.40	\$33.00	\$69.30	\$10.00	\$21.00	
		bf		nbf		bf		bf	
Red Oak Sawlog	64	43	\$49	99.17	\$58	3.00	\$27	0.00	
White Oak Sawlog	26	60	\$56	63.25	\$81	0.00	\$17	0.00	
Black Oak Sawlog	16	67	\$21	13.35	\$38	0.00	\$13	0.00	
Red Maple Sawlog	2	24	\$28	36.25	\$38	80.00	\$13	0.00	
Sugar Maple Sawlog	0		#D	IV/0!	\$0	0.00	\$0	.00	
Mixed Hardwood Sawlog	5	55	\$28	83.36	\$36	0.00	\$13	0.00	
Red Pine Sawlogs	4	4	\$15	50.00	\$150.00		\$15	0.00	
White Pine Sawlogs	1	14	\$13	34.65	\$16	0.00	\$13	0.00	

^{*}Includes Pine Bolts Sold

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN 54456** 715-743-5140





Forest Certification Chain of Custody found at: https://dnr.wisconsin.gov/topic/ timbersales/certification

Bid Comparison Report

Tract: 5-23

Minimum Bid: 82,805.00

Ule Logging #1064 Ryder Logging #1061 Schreiner Forestry #1030 Flannel Fleet Logging #1744 114,250.00 🗹

88,740.00

82,940.00

82,812.00

Ule Loggi	ng #10	64	Inc 🗌	Schreiner	Fores	try #1030	Inc 🗌	Flannel F	leet Lo	gging #174	14 Inc 🗌	Ryder Log	gging i	‡1061	inc
	Vol	Value			Vol	Value			Vol	Value			Vol	Value	
10-PW		130.000	11,050.00	10-PW	85	150.000	12,750.00	10-PW	85	130.000	11,050.00	10-PW	85	120.000	10,200.00
IO-MR		130.000	910.00	10-MR	7	150.000	1,050.00	10-MR	7	200.000	1,400.00	10-MR	7	225.000	1,575.00
10-00		130.000	2.210.00	10-00	17	150.000	2,550.00	10-00	17	150.000	2,550.00	10-00	17	225.000	3,825.00
20T-PW	290	12,000	3.480.00	20T-₽W	290	4.000	1,160.00	20T-PW	290	6.600	1,914.00	20T-PW	290	2.500	725.00
18T-PR	210		2.520.00	18T-PR	210	4.000	840.00	18T-PR	210	6.600	1,386.00	18T-PR	210	19.500	4,095.00
15T-HB	130	12.000	1.560.00	15T-HB	130	17.000	2,210.00	15T-HB	130	18.000	2,340.00	15T-HB	130	25.000	3,250.00
20T-MX	2290	12.000	27.480.00	20T-MX	2290	8.000	18,320.00	20T-MX	2290	6.600	15,114.00	20T-MX	2290	6.000	13,740.00
15T-OB	240	12.000	2.880.00	15T-OB	240	16.000	3,840.00	15T-OB	240	18.000	4,320.00	15T-OB	240	25.000	6,000.00
20T-OO	1180	12.000	14.160.00	20T-OO	1180	4.000	4,720.00	20T-OO	1180	6.600	7,788.00	20T-OO	1180	6.000	7,080.00
5T-AB	750	12.000	9.000.00	15T-AB	750	17.000	12,750.00	15T-AB	750	18.000	13,500.00	15T-AB	750	25.000	18,750.00
20T-A	3250		39,000.00	20T-A	3250		22,750,00	20T-A	3250	6.600	21,450.00	20T-A	3250	6.000	19,500.00
201-A		Total:	114,250.00			Total:	82,940.00	i	Bid	Total:	82,812.00	i	Bio	Total:	88,740.00

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN 54456** 715-743-5140





Forest Certification Chain of Custody found at: https://dnr.wisconsin.gov/topic/ timbersales/certification

Bid Comparison Report

Tract: 9-23

Minimum Bid:

9,392.10

Ule Logging #1064

10,060.00 🗹

Ule Loggi	ng #10	64	Inc _
	Vol	Value	
10-MR	2	130.000	260.00
10-OW	10	170.000	1,700.00
10-OR	7	270.000	1,890.00
15T-PR	50	9.000	450.00
20T-PW	60	9.000	540.00
20T-MX	200	9.000	1,800.00
15T-OB	100	9.000	900.00
20T-OO	170	9.000	1,530.00
20T-A	110	9.000	990.00
	Bid	Total:	10,060.00

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN 54456** 715-743-5140





Forest Certification Chain of Custody found at: https://dnr.wisconsin.gov/topic/ timbersales/certification

Bid Comparison Report

Tract: 16-23

Minimum Bid: 20,327.60

Kron Forest Prod #1021 TNT Timber #1035 Riewer WI Sawmill #1014 27,720.00 27,208.50 20,474.40

				יום	71101	TTIOU	********				
Kron Fore	st Proc	#1021	Inc _	TNT Timi	per #10	35	Inc 🗌	Biewer W	I Sawn	nill #1014	Inc 🔃
	Vol	Value			Vol	Value			Vol	Value	
18T-PR	660	37.000	24,420.00	18T-PR	660	37.450	24,717.00	18T-PR	660	28.400	18,744.00
18T-PW	90	30.000	2,700.00	18T-PW	90	25.010	2,250.90	18T-PW	90	16.560	1,490.40
20T-OO	20	10.000	200.00	20T-OO	20	4.010	80.20	20T-OO	20	10.000	200.00
20T-A	40	10.000	400.00	20T-A	40	4.010	160.40	20T-A	40	1.000	40.00
		Total:	27,720.00		Bid	Total:	27,208.50		Bid	Total:	20,474.40

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN 54456** 715-743-5140





Forest Certification Chain of Custody found at: https://dnr.wisconsin.gov/topic/ timbersales/certification

Bid Comparison Report

Tract: 22-23

Minimum Bid: 31,257.00

Flannel Fleet Logging #1744

31,303.50 🗹

Flannel F	leet Lo	gging #174	4 Inc
	Vol	Value	
15T-AB	100	18.000	1,800.00
10-MX	3	130.000	390.00
10-OW	7	220.000	1,540.00
10-00	43	130.000	5,590.00
15T-PW	280	18.000	5,040.00
20T-PW	260	5.410	1,406.60
20T-MX	290	5.410	1,568.90
15T-OB	280	18.000	5,040.00
20T-OO	960	5.500	5,280.00
20T-A	570	6.400	3,648.00
	Bid	Total:	31,303.50

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN 54456** 715-743-5140





Forest Certification Chain of Custody found at: https://dnr.wisconsin.gov/topic/ timbersales/certification

Bid Comparison Report

Tract: 23-23

Minimum Bid: 20,216.00

Kron Forest Prod #1021 Solberg Trucking LLC #1032 Biewer WI Sawmill #1014

33,100.00 ☑ 29,818.00 21,070.00

Solberg T	rucking	LLC #10	32 Inc 🗌	Kron For	est Proc	#1021	Inc 🗌	Biewer W	/I Sawn	ıili #1014	Inc 🗌
18T-PR 20T-MX	Voi 800 30	Value 36.710 15.000	29,368.00 450.00	18T-PR 20T-MX	Vol 800 30	Value 41.000 10.000 Total:		18T-PR 20T-MX	Vol 800 30 Bid	Value 26.150 5.000 Total:	20,920.00 150.00 21.070.00
	BIG	Total:	29,818.00		DIG	rotai.	33,100.00		Diu	T Cum.	21,070.00

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN 54456** 715-743-5140





Forest Certification Chain of Custody found at: https://dnr.wisconsin.gov/topic/ timbersales/certification

Bid Comparison Report

Tract: 24-23

Minimum Bid: 25,914.00

Martin's Forestry LLC #1058

25,925.70

35,820.00 ☑

Flannel	Fleet	Loggin	g #1744
Inc.	wine #47	744 Inc	

Martin's	Forestry	/ LLC #10	58 Inc	Flannel F	leet Lo	gging #174	4 Inc
	Vol	Value		j	Vol	Value	
10-PW	9	160.000	1,440.00	10-PW	9	120.000	1,080.00
10-BA	3	160.000	480.00	10-BA	3	130.000	390.00
10-MX	6	270.000	1,620.00	10-MX	6	150.000	900.00
10-00	85	270.000	22,950.00	10-00	85	150.000	12,750.00
20T-PW	40	3.000	120.00	20T-PW	40	4.860	194.40
20T-MX	370	3.000	1,110.00	20T-MX	370	4.890	1,809.30
15T-OB	300	20.000	6,000.00	15T-OB	300	18.000	5,400.00
20T-00	670	3.000	2,010.00	20T-OO	670	4.860	3,256.20
20T-A	30	3.000	90.00	20T-A	30	4.860	145.80
Ì	Bid	Total:	35.820.00		Bid	Total:	25,925.70

Page 1 of 1 11/14/23 1:55:19 PM

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN 54456 715-743-5140





Forest Certification Chain of Custody found at: https://dmr.wisconsin.gov/topic/ timbersales/certification

Bid Comparison Report

Tract: 25-23 Minimum Bid: 89,637.00

 Byers Forestry #1120
 135,229.00 ☑

 David Hakes Logging LLC #1956
 129,070.00 ☐

 Biewer WI Sawmill #1014
 90,181.20 ☐

 Flannel Fleet Logging #1744
 89,673.20 ☐

Byers For	restry #	1120	Inc [Flannel F	leet Lo	gging #174	4 Inc	David Ha	kes Lo	gging LLC	#195 Inc 🗌	Biewer W	/I Sawr	nili #1014	Inc
	Vol	Value	_		Vol	Value			Vol	Value			Vol	Value	
10-MX		330.000	6,930.00	10-MX	21	150.000	3,150.00	10-MX	21	365.000	7,665.00	10-MX	21	130.000	2,730.00
10-OW	5	330.000	1,650.00	10-OW	5	220.000	1,100.00	10-OW	5	365.000	1,825.00	10-OW	5	270.000	1,350.00
10-OR		330.000	7.920.00	10-OR	24	280.000	6,720.00	10-OR	24	365.000	8,760.00	10-OR	24	270.000	6,480.00
15T-PW	2120		51.092.00	15T-PW	2120	18.000	38,160.00	15T-PW	2120	23.000	48,760.00	15T-PW	2120	31.010	65,741.20
20T-PW			52,297.00	20T-PW	2170	9.440	20,484.80	20T-PW	2170	23.000	49,910.00	20T-PW	2170	1.500	3,255.00
15T-HB	100		2.700.00	15T-HB	100	18.000	1,800.00	15T-HB	100	5.000	500.00	15T-HB	100	19.000	1,900.00
20T-MX	710		3.550.00	20T-MX	710	9.440	6,702.40	20T-MX	710	5.000	3,550.00	20T-MX	710	4.500	3,195.00
15T-OB	120	27.000	3.240.00	15T-OB	120	18,000	2,160.00	15T-OB	120	5.000	600.00	15T-OB	120	19.000	2,280.00
20T-OO	400	5.000	2.000.00	20T-00	400	9.440	3,776.00	20T-OO	400	5.000	2,000.00	20T-OO	400	4.500	1,800.00
15T-AB	50	27.000		15T-AB	50	18.000	900.00	15T-AB	50	10.000	500.00	15T-AB	50	19.000	950.00
20T-A	500	5.000	2.500.00	20T-A	500		4.720.00	20T-A	500	10.000	5,000.00	20T-A	500	1.000	500.00
201-A	-	Total:	135.229.00			Total:	89,673.20	i	Bid	Total:	129,070.00	,	Bio	Total:	90,181.20

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN 54456 715-743-5140





Forest Certification Chain of Custody found at: https://dnr.wisconsin.gov/topic/ timbersales/certification

Bid Comparison Report

Tract: 26-23 Minimum Bid: 102,846.00

Twin Forest Products #1036	194,802.00 🗹
Theodore Strzok Log. #1033	173,355.00 🗆
Northwest Hardwoods #1027	173,075.00 🗆
Bergman Logging LLC #1013	169,020.00 🗆
Tigerton Lumber #1062	153,830.00 🗆
David Hakes Logging LLC #1956	146,475.00 🗆
Martin's Forestry LLC #1058	143,150.00 🗆
Country Forest Prod #1016	133,900.00 🗆
James Grezenski F.P. #1924	132,130.00 🗔
Midwest Hardwood Co #1890	120,006.80 🗆
Flannel Fleet Logging #1744	104,317.00

11/14/23 1:56:31 PM

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN 54456 715-743-5140





Forest Certification Chain of Custody found at: https://dnr.wisconsin.gov/topic/ timbersales/certification

Bid Comparison Report

						Tract:					102,846.								
Tigerton L	umber	#1062	Inc	Country I	orest	Prod #1016	inc 🗌	James G	rezens	ki F.P. #1	924 Inc 🗌	Northwes	t Hard	woods #10	27 Inc	Midwest I			890 Inc 🗍
	Vol	Value			Vol	Value			Vol	Value				Value			Vol	Value	0.550.50
10-MR	15	380.000	5,700.00	10-MR	15	300.000	4,500.00	10-MR	15	350.000	5,250.00	1		350.000	5,250.00			250.000	3,750.00
10-QW	73	550.000	40,150.00	10-OW	73	400.000	29,200.00	10-OW	73	590.000	43,070.00	11		750.000	54,750.00	10-OW		300.000	21,900.00
10-OR	181	410.000	74,210.00	10-OR	181	400.000	72,400.00	10-OR	181	280.000	50,680.00	1		415.000	75,115.00	10-OR		300.000	54,300.00
18T-PW	10	15.000	150.00	18T-PW	10	5.000	50.00	18T-PW	10		50.00		10			18T-PW	10		63.60
20T-MX	530	6.000	3,180.00	20T-MX	530	5.000	2,650.00	20T-MX	530		3,710.00		530		3,710.00		530	8.360	4,430.80
15T-OB	800	28.000	22,400.00	15T-OB	800	23.000	18,400.00	15T-OB	800	27.500	22,000.00		800		24,800.00	ł	800		24,360.00
20T-OO	1340	6.000	8,040.00	20T-00	1340	5.000	6,700.00	20T-OO	1340	5.500	7,370.00	20T-00	1340		9,380.00	20T-OO	1340		11,202.40
	Bid	Total:	153,830.00		Bio	Total:	133,900.00	1		Total:	132,130.00			Total:	173,075.00			Total:	120,006.80
Flannel Fl	eet Lo	gging #17	44 Inc 🗌	Twin For	est Pro	ducts #103	6 Inc	David Ha	kes Lo	gging LLC	#195 Inc 🗌	Martin's F	orestr	/ LLC #10	58 Inc	Theodore			133 Inc 🗌
		Value			Vol	Value			Vol	Value			Vol	Value				Value	405.00
10-MR	15	200.000	3,000.00	10-MR	15	380.000	5,700.00	10-MR	15	365.000	5,475.00			390.000	5,850.00			495.000	7,425.00
10-OW	73	220.000	16,060.00	10-OW	73	810.000	59,130.00	10-OW	73	365.000	26,645.00	9		390.000	28,470.00	1		495.000	36,135.00
10-OR	181	310.000	56,110.00	10-OR	181	500.000	90,500.00	10-OR	181	365.000	66,065.00	11		390.000	70,590.00			495.000	89,595.00
18T-PW	10	8.000	80.00	18T-PW	10	10.000	100.00	18T-PW	10			18T-PW	10			18T-PW		15.000	150.00
20T-MX	530	7.700	4,081.00	20T-MX	530	6.700	3,551.00	20T-MX	530	10.000	5,300.00		530		4,240.00		530		7,950.00
15T-OB	800	18.000	14,400.00	15T-OB	800	39.500	31,600.00	15T-OB	800	20.000	16,000.00		800		23,200.00	1	800		12,000.00
20T-OO	1340	7.900	10,586.00	20T-OO	1340	3.150	4,221.00	20T-OO	1340	20.000	26,800.00	20T-OO	1340		10,720.00	20T-00	1340		20,100.00
	Bid	Total:	104,317.00	1	Bio	Total:	194,802.00		Bid	Total:	146,475.00		Bid	Total:	143,150.00	l	Bid	Total:	173,355.00
Bergman	Loggin	g LLC #1	013 Inc 🗌																
	Vol	Value																	
10-MR	15	250.000	3,750.00	ļ															
10-OW	73	440.000	32,120.00	age/vvalue															
10-OR	181	440.000	79,640.00																
18T-PW	10	12.000	120.00																
20T-MX	530	15.000	7,950.00																
15T-OB	800	30.000	24,000.00																
20T-OO	1340	16.000	21,440.00																
	Bid	Total:	169,020.00																

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN 54456** 715-743-5140





Forest Certification Chain of Custody found at: https://dnr.wisconsin.gov/topic/ timbersales/certification

Bid Comparison Report

Tract: 27-23

Minimum Bid: 73,936.00

				Kr	on Fo	orest F	rod #102	1					113,	114.00	V				
				1T	NT Ti	mber#	1035						111,	961.00					
				W	iitala	& Voz	ka Log #1	1038					103,	809.00) 🗆				
							wmill #10						97,	336.40) 🗆				
							ging LLC						85,	193.00					
Kron For	est Proc	#1021	Inc 🗌	TNT Tim				Wiitala &		Log #103	8 Inc 🗌	Bergman	Loggin	g LLC #10)13 Inc 🖳	Biewer W	i Sawn	nill #1014	Inc 🗌
	Vol	Value	440.044.00	AOT DO	Vol 2460	Value 45.480	111,880.80	18T-PR	Val 2460	Value 42.150	103,689.00	18T-PR	Vol 2460	Value 34,550	84,993.00	18T-PR	Vol 2460	Value 39.480	97,120.80
18T-PR 20T-OO	2460	45.900 10.000	,.	18T-PR 20T-OO		4.010		20T-00	20	6.000		20T-00	20		·	20T-OO		10.780	215.60
20.00		Total:	113,114.00			Total:	111,961.00	1	Bid	Total:	103,809.00	ļ	Bid	Total:	85,193.00		Bid	Total:	97,336.40
												1 5				i			
1												13							

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN 54456** 715-743-5140





Forest Certification Chain of Custody found at: https://dnr.wisconsin.gov/topic/ timbersales/certification

Bid Comparison Report

Tract: 29-23

Minimum Bid: 37,050.00

Walters Logging #1123 Schreiner Forestry #1030

Flannel Fleet Logging #1744

47,955.00	✓
37,073.00	
37,060.00	

Walters L	.ogging	#1123	Inc _	Schreine	Fores	try #1030	inc	Flannel F	leet Lo	gging #174	4 Inc
	Vol	Value			Vol	Value			Vol	Value	
10-00	16	220.000	3,520.00	10-00	16	200.000	3,200.00	10-00	16	140.000	2,240.00
15T-HB	40	25.000	1,000.00	15T-HB	40	10.300	412.00	15 T -HB	40	18.000	720.00
20T-MX	870	6.500	5,655.00	20T-MX	870	10.300	8,961.00	20T-MX	870	7.000	6,090.00
15T-OB	50	25,000	1,250.00	15T-OB	50	7.000	350.00	15T-OB	50	18.000	900.00
20T-OO	150	6.000	900.00	20T-OO	150	7.000	1,050.00	20T-00	150	7.000	1,050.00
15T-AB	460	25.000	11.500.00	15T-AB	460	7.700	3,542.00	15T-AB	460	18.000	8,280.00
20T-A	2540	9.500	24,130,00	20T-A	2540	7.700	19,558.00	20T-A	2540	7.000	17,780.00
		Total:	47.955.00		Bid	Total:	37,073.00	*	Bid	Total:	37,060.00

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN 54456** 715-743-5140





Forest Certification Chain of Custody found at: https://dnr.wisconsin.gov/topic/ timbersales/certification

Bid Comparison Report

Tract: 30-23

Minimum Bid: 31,444.00

David Hakes Logging LLC #1956 Flannel Fleet Logging #1744

41,610.00 ☑ 31,452.60

Flannel F	leet Lo	gging #174	14 Inc 🗌	David Ha	kes Lo	gging LLC	#195 Inc 🗌
	Vol	Value			Vol	Value	
10-MX	4	150.000	600.00	10-MX	4	350.000	1,400.00
10-OW	3	200.000	600.00	10-OW	3	350.000	1,050.00
15T-PW	660	18.000	11,880.00	15T-PW	660	19.000	12,540.00
20T-PW	360	8.370	3,013.20	20T-PW	360	19.000	6,840.00
15T-HB	100	18.000	1,800.00	15T-HB	100	11.500	1,150.00
20T-MX	790	8.370	6,612.30	20T-MX	790	11.500	9,085.00
20T-OO	130	8.370	1,088.10	20T-OO	130	11.500	1,495.00
20T-A	700	8.370	5,859.00	20T-A	700	11.500	8,050.00
	Bid	Total:	31,452.60		Bid	Total:	41,610.00

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN 54456** 715-743-5140





Forest Certification Chain of Custody found at: https://dnr.wisconsin.gov/topic/ timbersales/certification

Bid Comparison Report

Tract: **31-23** Minimum Bid: **77,969.00**

Kron Forest Prod #1021 132,927.00 ✓ 128,788.60 TNT Timber #1035 127,833.00 Solberg Logging #1031 122,227.70 Biewer WI Sawmill #1014 122,137.00 Martin's Forestry LLC #1058 119,484.50 Wiitala & Vozka Log #1038 100,908.00 Byers Forestry #1120 94.005.50 Matticks Logging LLC #1121

				IVI	attick	s Logg	ling LLC i	41121					34,	000.00					
Byers Fo	restry#	1120	Inc 🗌	Solberg L	ogging	#1031	Inc 🗌	Kron For	est Prod	#1021	Inc _	TNT Tim	ber #10	35	Inc 🔙	Matticks	Logging	LLC #11: ر	21
18T-PR 20T-MX	Vol 2830 20 Bid	Value 35.600 8.000 Total:	100,748.00 160.00 100,908.00	18T-PR 20T-MX	Vol 2830 20 Bid	Value 45.100 10.000 Total:	127,633.00 200.00 127,833.00	20T-MX		Value 46.900 10.000 Total:	132,727.00 200.00 132,927.00	18T-PR 20T-MX	Vol 2830 20 Bid		128,708.40 80.20 128,788.60	20T-MX	20	Value 33.150 9.550 Total:	93 94
Wiitala &	Vozka Vol	Log #103 Value	38 inc _	Martin's F	orestry	LLC #10 Value	58 Inc 🗌	Biewer W	/I Sawn Vol	nill #1014 Value	Inc 🗌					<u> </u>			
18T-PR	2830	42.150	119,284.50	18T-PR	2830		121,973.00	18T-PR	2830	43.110	122,001.30								
20T-MX	20	10.000	200.00	20T-MX	20	8.200	164.00	20T-MX	20	11.320	226.40								
	Bid	Total:	119,484.50		Bid	Total:	122,137.00		Bid	Total:	122,227.70								

Inc

93,814.50

94,005.50

191.00

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN 54456** 715-743-5140





Forest Certification Chain of Custody found at: https://dnr.wisconsin.gov/topic/ timbersales/certification

Bid Comparison Report

Tract: 33-23

Minimum Bid: 55,416.60

Flannel Fleet Logging #1744

55,426.00

Flannel F	leet Lo	gging #174	14 Inc 🗌
	Vol	Value	
10-MX	5	200.000	1,000.00
15T-PW	650	18.000	11,700.00
20T-PW	370	7.140	2,641.80
20T-MX	920	7.140	6,568.80
15T-OB	110	18.000	1,980.00
20T-OO	420	7.140	2,998.80
15T-AB	320	18.000	5,760.00
20T-A	3190	7.140	22,776.60
I	Bid	Total:	55,426.00

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN 54456 715-743-5140





Forest Certification Chain of Custody found at: https://dnr.wisconsin.gov/topic/ tlmbersales/certification

Bid Comparison Report

Tract: **34-23** Minimum Bld: **47,385.50**

 Wiitala & Vozka Log #1038
 63,349.00 ☑

 Kron Forest Prod #1021
 62,390.00 □

 TNT Timber #1035
 57,857.30 □

 Martin's Forestry LLC #1058
 53,860.00 □

Kron Forest Prod #1021 Inc TNT Vol Value	NT Timber #1035	inc Wiltala & Vozka Log #103		Inc 🗌
Voi Value	Matter Makes			
18T-PR 1490 37.000 55,130.00 18T-1 18T-PW 180 37.000 6,660.00 18T-1 20T-OO 60 10.000 600.00 20T-0 Bid Total: 62,390.00		53,654.90 18T-PR 1490 40.100 3,961.80 18T-PW 180 18.000 240.60 20T-OO 60 6.000 57,857.30 Bid Total:	3,240.00 18T-PW 180 32.000 360.00 20T-OO 60 7.000	47,680.00 5,760.00 420.00 53,860.00

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN 54456 715-743-5140





Forest Certification Chain of Custody found at: https://dnr.wisconsin.gov/topic/ timbersales/certification

Bid Comparison Report

Tract: 35-23 Minimum Bid: 52,068.00

 Ule Logging #1064
 96,650.00 ☑

 Dairyland Forest Prod #1017
 84,750.00 ☐

 Nicholas Syryczuk #1059
 61,580.00 ☐

 Ryder Logging #1061
 60,250.00 ☐

 Schreiner Forestry #1030
 60,210.00 ☐

 Flannel Fleet Logging #1744
 52,078.80 ☐

				1 10	A: 11 10	1 1000	roaama ,					lia .	-	4	ina []	Classel E	loot to	ging #1744	Inc 🗌
Nicholas :	Svrvczu	ık #1059	Inc	Ule Loggi	ing #10	64	Inc 🔙	Dairyland	Forest	Prod #101	7 Inc [_]	Schreine	Fores	try #1030	inc	Flannel F	ieer roi	jging #1744	, Inc
	Vol	Value			Vol	Value			Vol	Value			Vol	Value			Vol	Value	
10-OW		390.000	1,170.00	10-OW		270.000	810.00	10-OW	3	270.000	810.00	10-OW	3	300.000	900.00	10-OW	3	200.000	600.00
10-OR	_	390.000	7.800.00	10-OR	_	270.000	5,400.00	10-OR	20	270.000	5,400.00	10-OR	20	300.000	6,000.00	10-OR	20	270.000	5,400.00
15T-PR	40	28.000	1.120.00	15T-PR	40		760.00	15T-PR	40	16.500	660.00	15T-PR	40	17.000	680.00	15T-PR	40	18.000	720.00
		28.000	14.560.00	15T-PW	520		9,880.00	15T-PW	520	16.500	8.580.00	15T-PW	520	17.000	8,840.00	15T-PW	520	18.000	9,360.00
15T-PW	520				320	19.000		20T-PW	320		5.280.00	20T-PW	320	5.000	1,600.00	20T-PW	320	7.180	2,297.60
20T-PW	320	5.000	1,600.00				-,				13,035.00		790	8.000	6,320.00	20T-MX	790	7.180	5.672.20
20T-MX	790	5.000	3,950.00	20T-MX	790	19.000	15,010.00	i	790			1				1			
15T-OB	100	28.000	2,800.00	15T-OB	100	19.000	1,900.00	15T-OB	100	16.500	1,650.00	15T-OB	100	16.000	1,600.00	15T-OB	100	18.000	1,800.00
20T-OO	210	5.000	1.050.00	20T-00	210	19.000	3,990.00	20T-OO	210	16.500	3,465.00	20T-OO	210	5.000	1,050.00	20T-OO	210	7.180	1,507.80
15T-AB	440	28.000	12,320.00	15T-AB	440	19.000	8,360.00	15T-AB	440	16.500	7,260.00	15T-AB	440	17.000	7,480.00	15T-AB	440	18.000	7,920.00
20T-A	2340	6.500	15,210.00	1	2340	19.000	44,460.00	20T-A	2340	16.500	38,610.00	20T-A	2340	11.000	25,740.00	20T-A	2340	7.180	16,801.20
201-A		Total:	61.580.00	20177		Total:	96,650.00	1	Bid	Total:	84,750.00	į	Bio	i Total:	60,210.00		Bid	Total:	52,078.80
		10tal.	01,500.00	-	D.C.							11							

Ryder Lo	gging #	£1061	Inc 🗌
	Vol	Value	
10-OW	3	300.000	900.00
10-OR	20	300.000	6,000.00
15T-PR	40	25.000	1,000.00
15T-PW	520	25.000	13,000.00
20T-PW	320	2.500	800.00
20T-MX	790	7.500	5,925.00
15T-OB	100	25.000	2,500.00
20T-OO	210	7.500	1,575.00
15T-AB	440	25.000	11,000.00
20T-A	2340	7.500	17,550.00
	Bid	Total:	60,250.00

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN 54456 715-743-5140





Forest Certification Chain of Custody found at: https://dnr.wisconsin.gov/topic/ timbersales/certification

Bid Comparison Report

Tract: 36-23 Minimum Bid: 34,665.00

 Midwest Hardwood Co #1890
 43,910.60 ☑

 Solberg Trucking LLC #1032
 42,124.60 ☐

 Biewer WI Sawmill #1014
 41,699.30 ☐

 Northwest Hardwoods #1027
 37,670.00 ☐

ruckina	LLC #1032	Inc	Northwes	t Hard	woods #102	7 inc	Midwest	Hardwo	od Co #18	90 Inc	Biewer W	I Sawn	nill #1014	Inc
-			Ī	Vol	Value			Vol	Value		,	Vol	Value	
		200.00	10-OW	1	300.000	300.00	10-MX	1	250.000	250.00	10-MX	1	302.500	302.50
		200.00	10-OR	54	300.000	16,200.00	10-OW	1	405.000	405.00	10-OW	1	302.500	302.50
				530	30.000	15,900.00	10-OR	54	405.000	21,870.00	10-OR	54	302.500	16,335.00
-	520,000	,		120	28.000	3.360.00	18T-PR	530	30.960	16,408.80	18T-PR	530	36.420	19,302.60
						1,610,00	15T-OB	120	25.450	3,054.00	15T-OB	120	20.000	2,400.00
		.,	1			.,		230	8.360	1.922.80	20T-OO	230	13.290	3,056.70
				-			20.00					Bid	Total:	41,699.30
	Vol 1 2 54 3 530 120 230	Vol Value 1 200.000 1 200.000 54 320.000 530 35.820 120 15.600 230 15.600	Voi Value 1 200.000 200.00 1 200.000 200.00 54 320.000 17,280.00 530 35.820 18,984.60 120 15.600 1,872.00 230 15.600 3,588.00	Vol Value 200.000 200.00 10-OW 1 200.000 200.00 10-OR 54 320.000 17,280.00 18T-PR 530 35.820 18,984.60 15T-OB 120 15.600 1,872.00 20T-OO 230 15.600 3,588.00 10-MX	Vol Value Vol 1 200.000 200.00 10-OW 1 1 200.000 200.00 10-OR 54 54 320.000 17,280.00 18T-PR 530 530 35.820 18,984.60 15T-OB 120 120 15.600 1,872.00 20T-OO 230 230 15.600 3,588.00 10-MX 1	Vol Value Vol Value 1 200.000 200.00 10-OW 1 300.000 1 200.000 200.00 10-OR 54 300.000 54 320.000 17,280.00 18T-PR 530 30.000 530 35.820 18,984.60 15T-OB 120 28.000 120 15.600 1,872.00 20T-OO 230 7.000 230 15.600 3,588.00 10-MX 1 300.000	Vol Value Vol Value 1 200.000 200.00 10-OW 1 300.000 300.00 1 200.000 200.00 10-OR 54 300.000 16,200.00 54 320.000 17,280.00 18T-PR 530 30.000 15,900.00 530 35.820 18,984.60 15T-OB 120 28.000 3,360.00 120 15.600 1,872.00 20T-OO 230 7.000 1,610.00 230 15.600 3,588.00 10-MX 1 300.000 300.00	Vol Value Vol Value 1 200.000 200.00 10-OW 1 300.000 300.00 10-MX 1 200.000 200.00 10-OR 54 300.000 16,200.00 10-OW 54 320.000 17,280.00 18T-PR 530 30.000 15,900.00 10-OR 530 35.820 18,984.60 15T-OB 120 28.000 3,360.00 18T-PR 120 15.600 1,872.00 20T-OO 230 7.000 1,610.00 15T-OB 230 15.600 3,588.00 10-MX 1 300.000 300.00 20T-OO	Vol Value Vol Value Vol Value Vol Value Vol Vol 1 200.000 300.000 10-MX 1 1 200.000 200.000 10-OW 1 300.000 16,200.00 10-OW 1 54 320.000 17,280.00 18T-PR 530 30.000 15,900.00 10-OR 54 530 35.820 18,984.60 15T-OB 120 28.000 3,360.00 18T-PR 530 120 15.600 1,872.00 20T-OO 230 7.000 1,610.00 15T-OB 120 230 15.600 3,588.00 10-MX 1 300.000 300.00 20T-OO 230	Vol Value Vol Value Vol Value 1 200.000 200.00 10-OW 1 300.000 300.00 10-MX 1 250.000 1 200.000 200.00 10-OR 54 300.000 16,200.00 10-OW 1 405.000 54 320.000 17,280.00 18T-PR 530 30.000 15,900.00 10-OR 54 405.000 530 35.820 18,984.60 15T-OB 120 28.000 3,360.00 18T-PR 530 30.960 120 15.600 1,872.00 20T-OO 230 7.000 1,610.00 15T-OB 120 25.450 230 15.600 3,588.00 10-MX 1 300.000 300.00 20T-OO 230 8.360	Vol Value Vol Value Vol Value 1 200.000 200.000 10-OW 1 300.000 300.00 10-MX 1 250.000 250.00 54 320.000 17,280.00 18T-PR 530 30.000 15,900.00 10-OR 54 405.00 21,870.00 530 35.820 18,984.60 15T-OB 120 28.000 3,360.00 18T-PR 530 30.000 1610.00 15T-OB 120 25.450 3,054.00 230 15.600 3,588.00 10-MX 1 300.000 300.00 20T-OO 230 8.360 1,922.80	Vol Value 1 200.000 200.00 1 200.000 10-OR 54 300.000 16,200.00 54 320.000 17,280.00 18T-PR 530 30.000 15,900.00 530 35.820 18,984.60 15T-OB 120 28.000 3,360.00 18T-PR 530 30.960 16,408.80 18T-PR 120 15.600 1,872.00 20T-OO 230 7.000 1,610.00 20T-OO 230 8.360 1,922.80 20T-OO	Vol Value 1 200.000 200.00 1 200.000 10-OR 54 300.000 16,200.00 1 300.000 17,280.00 18T-PR 530 30.000 15,900.00 1 20 15.600 1,872.00 20T-OO 230 7.000 1,610.00 20T-OO 230 8.360 1,922.80 20T-OO 230 8.360 20T-OO 230 8.	Vol Value Vol Value <th< td=""></th<>

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN 54456** 715-743-5140





Forest Certification Chain of Custody found at: https://dnr.wisconsin.gov/topic/ timbersales/certification

Bid Comparison Report

Tract: 37-23

Minimum Bid: 25,888.00

Nicholas Syryczuk #1059 Schreiner Forestry #1030

Flannel Fleet Logging #1744

28,205.00	✓
26,950.00	
26,417.50	

								-Per effect to become			
Nicholas	Syrycz	ık #1059	Inc 🗌	Schreine	Fores	try #1030	Inc 🔙	Flannel F	leet Lo	gging #1744	l inc
	Vol	Value		1	Vol	Value			Vol	Value	
10-00		380.000	760.00	10-00	2	200.000	400.00	10-00	2	150.000	300.00
20T-MX	770	5.000	3,850.00	20T-MX	770	11.000	8,470.00	20T-MX	770	8.100	6,237.00
15T-OB	70	28,000	1,960.00	15T-OB	70	7.000	490.00	15T-OB	70	18.000	1,260.00
20T-OO	250	5.000	1,250.00	20T-OO	250	7.000	1,750.00	20T-OO	250	8.350	2,087.50
15T-AB	270	28,000	7.560.00	15T-AB	270	8.000	2,160.00	15T-AB	270	8.350	2,254.50
20T-A	1710	7.500	12.825.00	20T-A	1710	8.000	13,680.00	20T-A	1710	8.350	14,278.50
		Total:	28,205.00		Bid	Total:	26,950.00	I	Bid	Total:	26,417.50

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN 54456 715-743-5140





Forest Certification Chain of Custody found at: https://dnr.wisconsin.gov/topic/ timbersales/certification

Bid Comparison Report

84,130.00 10-OR

18,600.00

137,645.00

255.00 20T-PW

10,540.00 20T-OO

15T-OB

179 470.000

620 30.000

Bid Total:

30

1240

8.500

8.500

55,490.00

11,160.00

12,772.00

93,328.00

336.00

179 310.000

30 11.200

Bid Total:

18.000

620

20T-OO 1240 10.300

10-OR

20T-PW

15T-OB

10-OR

20T-PW

15T-OB

20T-00

Tract: 38-23 Minimum Bid: 92,945.20

Theodore Strzok Log. #1033	162,068.00 🗹
Northwest Hardwoods #1027	159,850.00
Tigerton Lumber #1062	147,470.00
Martin's Forestry LLC #1058	137,645.00 🗆
Byers Forestry #1120	118,140.00 🗆
Midwest Hardwood Co #1890	115,155.80 🗆
Country Forest Prod #1016	114,611.00 🗆
Flannel Fleet Logging #1744	93,328.00

Flannel Fleet Logging #:									#1744 93,328.00 G										
Byers Fo	restry#	1120	Inc	Tigerton			Inc 🗌	Country	Forest f	Prod #1016	inc 🗌	Northwes	t Hard	woods #10	27 Inc	Midwest I	lardwo	od Co #18	890 Inc 🔲 !
Dyolo . C	Vol	Value	-		Vol	Value		i	Vol	Value			Vol	Value		1	Vol	Value	
10-PW		150.000	2,100.00	10-PW		150.000	2,100.00	10-PW	14	125.000	1,750.00	10-PW	14	165.000	2,310.00	10-PW	14	150.000	2,100.00
10-OW		410.000	19.270.00	11		625.000	29,375.00	10-OW	47	430.000	20,210.00	10-OW	47	795.000	37,365.00	10-OW	47	450.000	21,150.00
		390.000	69,810.00			505.000	90,395.00	1	179	399.000	71,421.00	10-OR	179	515.000	92,185.00	10-OR	179	325.000	58,175.00
10-OR				20T-PW	30			20T-PW	30	5.000	150.00	20T-PW	30	3.000	90.00	20T-PW	30	8.360	250.80
20T-PW	30					29.000		15T-OB	620		14,880.00		620	31.000	19,220.00	15T-OB	620	32.720	20,286.40
15T-OB	620		16,740.00				,	20T-00			6,200.00		1240	7.000	8,680.00	20T-OO	1240	10.640	13,193.60
20T-00	1240		-,	i i			.,	201-00		Total:	114,611.00	201-00		Total:	159,850.00		Bid	Total:	115,155.80
	Bid	Total:	118,140.00	, [Bid	Total:	147,470.00						Diq	roun.	100,000.00				,
Flannel F	leet Lo	gging #17	44 Inc 🗌	Martin's I	orestr	y LLC #10	58 Inc 🗌	Theodor	e Strzol	Log. #10	33 Inc								
	Vol	Value			Vol	Value		Ì	Vol	Value									
10-PW	14	130.000	1,820.00	10-PW	14	145.000	2,030.00	10-PW	14	140.000	1,960.00								
10-OW	47	250.000	11,750.00	10-OW	47	470.000	22,090.00	10-OW	47	583.000	27,401.00								
								1											

30 15.000

620 15.000

1240 15.000

Bid Total:

179 583.000 104,357.00

450.00

9,300.00

18,600.00

162,068.00

11/14/23 2:00:28 PM

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN 54456** 715-743-5140





Forest Certification Chain of Custody found at: https://dnr.wisconsin.gov/topic/ timbersales/certification

Bid Comparison Report

Tract: 39-23 Minimum Bid: 64,512.80

Kron Forest Prod #1021	99,587.50 🗹
Byers Forestry #1120	97,650.00
TNT Timber #1035	96,315.40 🗆
Martin's Forestry LLC #1058	95,680.00 🗀
Wiitala & Vozka Log #1038	89,405.00 🗆
Walters Logging #1123	87,995.00 🗆
Biewer WI Sawmill #1014	82,952.30
Bergman Logging LLC #1013	76,630.00

				Be	erama	an Loge	ging LLC	#1013	,				76,	630.00					
Byers For	restry #	1120	Inc 🗌	Kron For			Inc 🗌	TNT Timi	ber #10	35	Inc 🗌	Wiitala &		Log #1038	Inc	Martin's F			58 Inc _
18T-PR 18T-PW 20T-OO	Vol 2050 120 20 Bid	Value 45.800 30.000 8.000 Total:	93,890.00 3,600.00 160.00 97,650.00		20		95,427.50 3,960.00 200.00 99,587.50	18T-PR 18T-PW 20T-OO	Vol 2050 120 20 Bid	25.010	93,234.00 3,001.20 80.20 96,315.40	18T-PW	Vol 2050 120 20 Bid	Value 42.500 18.000 6.000 Total:	87,125.00 2,160.00 120.00 89,405.00	18T-PW	Vol 2050 120 20 Bid	Value 44.000 44.000 10.000 Total:	90,200.00 5,280.00 200.00 95,680.00
Bergman	Loggin	LLC #10)13 Inc []	Biewer W	/I Sawn	nill #1014	Inc 🗌	Walters I	Logging	#1123	Inc 🗌								
18T-PR 18T-PW 20T-OO	Vol 2050 120 20	Value 35.800 25.000 12.000 Total:	73,390.00 3,000.00	11	20		79,601.50 3,124.80 226.00 82,952.30	18T-PR 18T-PW 20T-OO	Vol 2050 120 20 Bid		83,025.00 4,860.00 110.00 87,995.00								
								1											

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN 54456** 715-743-5140





Forest Certification Chain of Custody found at: https://dnr.wisconsin.gov/topic/ timbersales/certification

Bid Comparison Report

Tract: 40-23

Minimum Bid: 23,396.00

Solberg Trucking LLC #1032 Biewer WI Sawmill #1014

43,691.60 ☑ 26,811.60

Solberg	Fruckin	g LLC #10	32 Inc 🗌	Biewer W	I Sawr	nill #1014	Inc 🗌
f	Vol	Value			Vol	Value	
10-00	4	150.000	600.00	10-00	4	120.000	480.00
18T-PW	1320	32.380	42,741.60	18T-PW	1320	19.630	25,911.60
20T-MX	70	5.000	350.00	20T-MX	70	6.000	420.00
	Bid	Total:	43,691.60		Bid	Total:	26,811.60

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN 54456** 715-743-5140





Forest Certification Chain of Custody found at: https://dnr.wisconsin.gov/topic/ timbersales/certification

Bid Comparison Report

Tract: 41-23

Minimum Bid: 10,988.00

Schreiner Forestry #1030 Flannel Fleet Logging #1744 11,450.00 ☑

11,008.80

Schreiner	Fores	try #1030	Inc 🗌	Flannel F	leet Lo	gging #174	4 Inc
	Vol	Value		1	Vol	Value	
10-PW	3	150.000	450.00	10-PW	3	130.000	390.00
10-MX	3	200.000	600.00	10-MX	3	200.000	600.00
20T-PW	40	7.000	280.00	20T-PW	40	6.300	252.00
20T-MX	300	11.000	3,300.00	20T-MX	300	6.250	1,875.00
15T-OB	50	7.000	350.00	15T-OB	50	18.000	900.00
20T-OO	250	7.000	1,750.00	20T-OO	250	6.220	1,555.00
15T-AB	150	8.000	1,200.00	15T-AB	150	18.000	2,700.00
20T-A	440	8.000	3,520.00	20T-A	440	6.220	2,736.80
	Bid	Total:	11,450.00	1,	Bid	Total:	11,008.80

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN 54456 715-743-5140





Forest Certification Chain of Custody found at: https://dnr.wisconsin.gov/topic/ timbersales/certification

Bid Comparison Report

Tract: 43-23 Minimum Bid: 24,628.00

Theodore Strzok Log. #1033	38,370.00 🗹
Nicholas Syryczuk #1059	37,360.00 🗆
David Hakes Logging LLC #1956	35,910.00
Bergman Logging LLC #1013	34,800.00
Ule Logging #1064	34,580.00
Tigerton Lumber #1062	32,980.00
Twin Forest Products #1036	32,901.00
Northwest Hardwoods #1027	30,330.00
Walters Logging #1123	30,187.50
Ryder Logging #1061	26,925.00
Country Forest Prod #1016	25,990.00
Schreiner Forestry #1030	25,370.00
Flannel Fleet Logging #1744	24,633.60

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN 54456 715-743-5140





Forest Certification Chain of Custody found at: https://dnr.wisconsin.gov/topic/ timbersales/certification

Bid Comparison Report

						Tract:	43-2	3	Minin	num Bid:	24,628.	00							
Tigerton L	umber	#1062	Inc 🗌	Nicholas	Syryczi	ık #1059	Inc 🗌	Country	Forest F	Prod #1016	Inc 🗌	Ule Loggi	ng #10	64	Inc	Northwest	Hardy	voods #10	27 Inc 🗌
1	Vol	Value			Vol	Value			Vol	Value			Vol	Value			Vol	Value	
10-MX	7	360.000	2,520.00	10-MX	7	450.000	3,150.00	10-MX	7	250,000	1,750.00	10-MX		250.000	1,750.00	10-MX		350.000	2,450.00
10-OW	3	560.000	1,680.00	10-OW	3	450.000	1,350.00	10-OW	3	350.000	1,050.00	10-OW		350.000	1,050.00	10-OW		350.000	1,050.00
10-OR	44	420.000	18,480.00	10-OR	44	450.000	19,800.00	10-OR	44	350.000	15,400.00	10-OR		350.000	15,400.00	10-OR		350.000	15,400.00
20T-MX	200	6.000	1,200.00	20T-MX	200	10.000	2,000.00	20T-MX	200	5.000	1,000.00	20T-MX	200	18.000	3,600.00	20T-MX	200	7.000	1,400.00
15T-OB	200	28.000	5,600.00	15T-OB	200	28.000	5,600.00	15T-OB	200	20.000	4,000.00	15T-OB	200	18.000	3,600.00	15T-OB	200	30.000	6,000.00
20T-OO	430	6.000	2,580.00	20T-OO	430	10.000	4,300.00	20T-00	430	5.000	2,150.00	20T-OO	430		7,740.00	20T-OO	430	7.000	3,010.00
15T-AB	20	28.000	560.00	15T-AB	20	28.000	560.00	15T-AB	20	8.000	160.00	15T-AB		18.000	360.00	15T-AB	20	30.000	600.00
20T-A	60	6.000	360.00	20T-A	60	10.000	600.00	20T-A	60	8.000	480.00	20T-A	60	18.000	1,080.00	20T-A	60	7.000	420.00
	Bid	Total:	32,980.00		Bid	Total:	37,360.00			Total:	25,990.00			Total:	34,580.00	<u> </u>		Total:	30,330.00
Schreiner	Forest	ry #1030	Inc 🗌	Flannel F	leet Lo	gging #174	14 Inc 🗌	Twin For	est Prod	ducts #103	6 Inc 🗌	David Hal	kes Lo	gging LLC	#195 Inc 🗌	Theodore			33 Inc 🗌
	Vol	Value			Vol	Value			Vol	Value			Vol	Value			Vol	Value	4 005 00
10-MX	7	250.000	1,750.00	10-MX	7	150.000	1,050.00	10-MX		360.000	2,520.00	10-MX		365.000	2,555.00	1		275.000	1,925.00
10-OW	3	350.000	1,050.00	10-OW	3	200.000	600.00	10-OW		430.000	1,290.00	10-OW		365.000	1,095.00			485.000	1,455.00
10-OR	44	350.000	15,400.00	10-OR	44	300.000	13,200.00	10-OR		430.000		10-OR		365.000	16,060.00	10-OR		485.000	21,340.00
20T-MX	200	11.000	2,200.00	20T-MX	200	8.440	1,688.00	20T-MX	200	4.100	820.00	20T-MX		10.000	2,000.00	20T-MX	200		3,000.00
15T-OB	200	7.000	1,400.00	15T-OB	200	18.000	3,600.00	15T-OB	200	36.500	7,300.00	15T-OB	200		4,000.00	15T-OB	200	15.000	3,000.00
20T-OO	430	7.000	3,010.00	20T-00	430	8.440	3,629.20	20T-00	430	2.900	1,247.00	20T-OO	430		8,600.00	20T-OO	430	15.000	6,450.00
15T-AB	20	7.000	140.00	15T-AB	20	18.000	360.00	15T-AB	20	33.300	666.00	15T-AB	20		400.00	15T-AB	20	15.000	300.00
20T-A	60	7.000	420.00	20T-A	60	8.440		20T-A	60	2.300	138.00	20T-A		20.000		20T-A	60		900.00
1	Bld	Total:	25,370.00			Total:	24,633.60			Total:	32,901.00	1	Bid	Total:	35,910.00		Bid	Total:	38,370.00
Bergman	Loggin	g LLC #10	13 Inc 🗌	Ryder Lo	gging #		Inc	Waiters I			inc	•							
	Vol	Value			Vol	Value			Vol_	Value	0.005.00								
10-MX	7	250.000	1,750.00	10-MX		275.000	1,925.00			375.000	2,625.00								
10-OW	3	350.000	1,050.00	10-OW		375.000	1,125.00	Į.		375.000	1,125.00								
10-OR	44	350.000	15,400.00	1		300.000		10-OR		375.000	16,500.00								
20T-MX	200	12.000	2,400.00	4	200	7.500	1,500.00	20T-MX	200	6.250	1,250.00								
15T-OB	200	30.000	6,000.00	13	200	25.000	5,000.00	15T-OB	200	25.500	5,100.00								
20T-OO	430	16.000	6,880.00	1	430	7.500	3,225.00	20T-00	430	6.250	2,687.50								
15T-AB	20	30.000		15T-AB	20	25.000		15T-AB	20	25.500	510.00								
20T-A	60	12.000	720.00	H	60	7.500	450.00	20T-A	60	6.500	390.00								
	Bid	Total:	34,800.00	il	Bid	Total:	26,925.00		Bid	Total:	30,187.50								

Tract: **44-23**

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN 54456** 715-743-5140



Minimum Bid: **82,428.80**



Forest Certification Chain of Custody found at: https://dnr.wisconsin.gov/topic/ timbersales/certification

Bid Comparison Report

Kron Forest Prod #1021	148,604.00 🗹
TNT Timber #1035	145,552.00 🗆
Byers Forestry #1120	142,520.00 🗆
Wiitala & Vozka Log #1038	137,780.00 🗆
Biewer WI Sawmill #1014	131,742.80 🗆
Martin's Forestry LLC #1058	127,064.00 🗆

				Ве	ergma	an Log	ging LLC	#1013					100,	557.20					
Byers Fo	restry#	1120	Inc _	Kron For				Wiitala &		Log #103	8 Inc 🗌	Martin's I	orestry	LLC #10	58 Inc 🗌	Bergman	Loggin	g LLC #1	013 Inc 🗌
-	Vol	Value			Vol	Value			Vol	Value			Vol	Value			Vol	Value	
18T-PR	3160	45.000	142,200.00	18T-PR	3160	46.900	148,204.00	18T-PR	3160	43.500	137,460.00	18T-PR	3160	40.100	126,716.00	18T-PR	3160	31.670	100,077.20
20T-OO	40	8.000	320.00	20T-OO	40	10.000	400.00	20T-OO	40	8.000	320.00	20T-OO	40	8.700	348.00	20T-OO	40	12.000	480.00
	Bid Total: 142,520.00			Bid	Total:	148,604.00		Bid	Total:	137,780.00		Bid	Total:	127,064.00		Bid	Total:	100,557.20	
				TAUT TO		.05	Ima [

			·																
	Bid	Total:	131.742.80		Bid	Total:	145,552.00												
20T-OO	40	11.910	476.40	20T-OO	40	4.010	160.40												
18T-PR	3160	41.540	131,266.40	18T-PR	3160	46.010	145,391.60												
	Vol	Value			Vol	Value													
Biewer W	/I Sawm	nill #1014	Inc	TNT Tim	ber #10	35	inc 🗌												
	Bid	Total:	142,520.00		Bid	Total:	148,604.00		Bid	Total:	137,780.00		Bid	Total:	127,064.00		Bid	Total:	100,557.20
20T-OO	40	8.000	320.00	20T-OO	40	10.000	400.00	20T-00		8.000	320.00	20T-OO	40	8.700		20T-OO	40		480.00
18T-PR	3160	45.000	142,200.00	18T-PR	3160	46.900	148,204.00	18T-PR	3160		137,460.00				126,716.00		3160	31.670	100,077.20
	Vol	Value			Vol	Value			VOI	value			VUI	value			V 01	Value	

Page 1 of 1 11/28/23 1:08:34 PM

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN 54456 715-743-5140





Forest Certification Chain of Custody found at: https://dnr.wisconsin.gov/topic/ timbersales/certification

Vol Value

10-OW

10-OR

15T-OB

20T-OO

55 325.000

93 325.000

330 25.450

640 8.360

Bid Total:

17,875.00 10-OW

30,225.00 10-OR

61,848.90

8,398.50 15T-OB

5,350.40 20T-OO

Bid Comparison Report

Tract: 45-23 Minimum Bid: 54,959.90

Theodore Strzok Log. #1033	89,948.00 🗹	
Tigerton Lumber #1062	79,955.00 🗆	
Northwest Hardwoods #1027	76,850.00 🗆	
Country Forest Prod #1016	66,290.00	
Ryder Logging #1061	62,075.00	
Midwest Hardwood Co #1890	61,848.90	
Schreiner Forestry #1030	58,590.00 □	
Flannel Fleet Logging #1744	54,962.80 □	The state of the s
htry Forest Prod #1016 Inc Northwest Hardwoods #1027	Inc Midwest Hardwood Co #1890	Inc Schreiner Forestry #1030

					A		- 333				
Tigerton L	umbe	r#1062	Inc 📗	Country I	Forest l	Prod #1016	Inc 🗌	Northwes	t Hard	woods #10	027 Inc
	Vol	Value			Vol	Value			Vol	Value	
10-OW	55	560.000	30,800.00	10-OW	55	375.000	20,625.00	10-OW	55	550.000	30,250.00
10-OR	93	405.000	37,665.00	10-OR	93	375.000	34,875.00	10-OR	93	350.000	32,550.00
15T-OB	330	29.000	9,570.00	15T-OB	330	23.000	7,590.00	15T-OB	330	29.000	9,570.00
20T-OO	640	3.000	1,920.00	20T-OO	640	5.000	3,200.00	20T-00	640	7.000	4,480.00
		Total:	79.955.00		Bid	Total:	66,290.00		Bid	Total:	76,850.00
Flannel F		gging #17		Theodore	e Strzol	Log. #103	3 Inc	Ryder Lo	ging #	¥1 0 61	Inc _
	Vol	Value		ļi .	Vol	Value			Vol	Value	
10-OW		250.000	13,750.00	10-OW	55	516.000	28,380.00	10-OW	55	400.000	22,000.00
10-OR	93	300.000	27,900.00	10-OR	93	516.000	47,988.00	10-OR	93	325.000	30,225.00
15T-OB	330		5.940.00	15T-OB	330	14.000	4,620.00	15T-OB	330	25.000	8,250.00
20T-OO	640		7,372.80	20T-OO	640	14.000	8,960.00	20T-00	640	2.500	1,600.00
20, 00		Total:	54.962.80			Total:	89.948.00		Bid	Total:	62,075.00

Inc 🗌

19,250.00

32,550.00

2,310.00

4,480.00

58.590.00

Vol Value

Bid Total:

330

640

55 350.000

93 350.000

7.000

7.000

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN 54456** 715-743-5140





Forest Certification Chain of Custody found at: https://dnr.wisconsin.gov/topic/ timbersales/certification

Bid Comparison Report

Tract: 46-23

Minimum Bid: 33,036.00

Dairyland Forest Prod #1017 Flannel Fleet Logging #1744

56,310.00 ☑ 33,709.00

Dairyland	Fores	t Prod #10	17 Inc 🗌	Flannel F	leet Lo	gging #17	44 Inc 🗌
į	Vol	Value			Vof	Value	
10-MX	3	250.000	750.00	10-MX	3	200.000	600.00
10-OW	5	270.000	1,350.00	10-OW	5	250.000	1,250.00
10-OR	4	270.000	1,080.00	10-OR	4	350.000	1,400.00
15T-PR	160	16.500	2,640.00	15T-PR	160	18.000	2,880.00
15T-PW	90	16.500	1,485.00	15T-PW	90	18.000	1,620.00
20T-PR	130	16.500	2,145.00	20T-PR	130	7.700	1,001.00
20T-MX	680	16.500	11,220.00	20T-MX	680	7.700	5,236.00
15T-OB	160	16.500	2,640.00	15T-OB	160	18.000	2,880.00
20T-OO	440	16.500	7,260.00	20T-OO	440	7.700	3,388.00
15T-AB	140	16.500	2,310.00	15T-AB	140	18.000	2,520.00
20T-A	1420	16.500	23,430.00	20T-A	1420	7.700	10,934.00
	Bid	Total:	56,310.00	t	Bid	Total:	33,709.00



CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN 54456 715-743-5140





Forest Certification Chain of Custody found at: https://dm:wisconsin.gov/topic/ timbersales/certification

Bid Comparison Report

Tract: 47-23 Minimum Bid: 16,711.00

Tigerton Lumber #1062	28,550.00 🗹
Twin Forest Products #1036	28,197.00
Northwest Hardwoods #1027	27,265.00
Weyer Logging LLC #1054	23,668.00 🗆
Midwest Hardwood Co #1890	21,466.90 🗆
Ryder Logging #1061	20,965.00
Schreiner Forestry #1030	19,570.00 🗆
Country Forest Prod #1016	18,075.00 🗆
Flannel Fleet Logging #1744	16,712.40

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN 54456 715-743-5140





Forest Certification Chain of Custody found at: https://dnr.wisconsin.gov/topic/ timbersales/certification

Bid Comparison Report

						Tract:	47-2	3	Mini	mum Bid:	16,711.	00							
Tigerton L	umber i	#1062	Inc 🔲	Country F	orest F	Prod #1016	Inc	Northwes	t Hard	woods #102	27 Inc 🗌	Midwest I	lardwo	od Co #18	90 Inc 🗌	Schreiner	Fores	try #1030	Inc
		Value			Vol	Value			Vol	Value		•	Völ	Value			Vol	Value	
10-PR		50.000	600.00	10-PR	4	150.000	600.00	10-PR	4	150.000	600.00	10-PR	4	150.000	600.00	10-PR	4	150.000	600.00
10-PW	3 1	50.000	450.00	10-PW	3	150.000	450.00	10-PW	3	150.000	450.00	10-PW	3	150,000	450.00	10-PW	3	150.000	450.00
10-MX		360.000	720.00	10-MX	2	150.000	300.00	10-MX	2	375.000	750.00	10-MX	2	200.000	400.00	10-MX	2	150.000	300.00
10-OW		60.000	15,680.00	10-OW	28	325.000	9,100.00	10-OW	28	550.000	15,400.00	10-OW	28	375.000	10,500.00	10-OW	28	350.000	9,800.00
10-OR		20.000	7,140.00	10-OR	17	325.000	5,525.00	10-OR	17	375.000	6,375.00	10-OR	17	300.000	5,100.00		17	350.000	5,950.00
20T-PR	30	6.000	180.00	20T-PR	30	5.000	150.00	20T-PR	30	6.000	180.00	20T-PR	30	6.360	190.80	20T-PR	30	7.000	210.00
20T-MX	40	6.000		20T-MX	40	5.000	200.00	20T-MX	40	6.000	240.00	20T-MX	40	8.360	334.40	20T-MX	40	11.000	440.00
15T-OB	90	28.000	2,520.00	15T-OB	90	10.000	900.00	15T-OB	90	25.000	2,250.00	15T-OB	90	27.450	2,470.50	15T-OB	90	7.000	630.00
20T-OO	170	6.000		20T-OO	170	5.000	850.00	20T-OO	170	6.000	1,020.00	20T-OO	170	8.360	1,421.20	20T-OO	170	7.000	1,190.00
201 00		Fotal:	28,550.00		Bid	Total:	18,075.00		Bid	Total:	27,265.00		Bid	Total:	21,466.90	i	Bid	Total:	19,570.00
Flannel F		ging #174		Twin Fore	est Pro	ducts #103	6 Inc	Weyer Lo	gging	LLC #1054	Inc 🗌	Ryder Log	gging #	1061	inc 🗌				
i idinioi i		Value	• ••••		Vol	Value			Vol	Value			Vol	Value		1			
10-PR		130.000	520.00	10-PR		180.000	720.00	10-PR	4	135.000	540.00	10-PR	4	120.000	480.00				
10-PW		130.000	390.00	11	3	180.000	540.00	10-PW	3	135.000	405.00	10-PW	3	120.000	360.00	İ			
10-MX		150.000	300.00	10-MX	2	150.000	300.00	10-MX	2	387.000	774.00	10-MX	2	275.000	550.00				
10-OW	_	200.000	5,600.00	10-OW	28	550.000	15,400.00	10-OW	28	400.000	11,200.00	10-OW	28	400.000	11,200.00	1			
10-OR		300.000		10-OR	17	400.000	6,800.00	10-OR	17	387.000	6,579.00	10-OR	17	325.000	5,525.00				
20T-PR		13.260		20T-PR	30	1.000	30.00	20T-PR	30	8.000	240.00	20T-PR	30	2.500	75.00	!			
20T-MX		13.260		20T-MX	40	7.100	284.00	20T-MX	40	8.000	320.00	20T-MX	40	2.500	100.00				
15T-OB	90	18.000	1,620.00		90		3,375.00	15T-OB	90	25.000	2,250.00	15T-OB	90	25.000	2,250.00				
20T-OO		13.260		20T-OO	170		748.00	20T-OO	170	8.000	1,360.00	20T-OO	170	2.500	425.00				
201-00		Total:	16,712.40	iÌ		Total:	28,197.00		Bid	Total:	23,668.00	.,	Bid	Total:	20,965.00				

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN 54456** 715-743-5140





Forest Certification Chain of Custody found at: https://dnr.wisconsin.gov/topic/ timbersales/certification

Bid Comparison Report

Tract: 48-23

Minimum Bid: 60,948.30

Biewer WI Sawmill #1014 Solberg Trucking LLC #1032 69,507.50 ☑ 66,450.00

			- Promet	Commence .	7 mm - error 20	11000	
Biewer W	I Sawr	nill #1014	Inc _	Solberg	rucking	g LLC #10	32 Inc ∐
	Vol	Value		1	Vol	Value	
10-OW	20	302.500	6,050.00	10-OW	20	170.000	3,400.00
10-OR	20	302.500	6,050.00	10-OR	20	270.000	5,400.00
15T-PW	750	27.980	20,985.00	15T-PW	750	33.000	24,750.00
15T-PR	650	36.810	23,926.50	15T-PR	650	35.000	22,750.00
20T-PW	880	6.000	5,280.00	20T-PW	880	5.000	4,400.00
20T-MX	210	7.600	1,596.00	20T-MX	210	5.000	1,050.00
15T-OB	110	20.000	2,200.00	15T-OB	110	20.000	2,200.00
20T-OO	400	7.600	3,040.00	20T-OO	400	5.000	2,000.00
20T-A	50	7.600	380.00	20T-A	50	10.000	500.00
		Total:	69,507.50		Bid	Total:	66,450.00